Section 3.2

1. Prodoct Rule: g (=7 + 132"+ 1) =
Vo= + 12+ (2 + 1){22) = 32 + 32 4 220 2 = G o 37 4 22
Multiphying first: g = (27 4+ 12" + 1) =2+ 2"+ =7+ 1 = y =5z" + 327 4+ 2x (equivalent).
3. By the Product Rule, fz) = (=7 +22)e" =
F(z) = (=" + 22)(e")’ + e*(x? + 2z}’ = (2" + 2r)e” 4 o5(3x? + 2)

= |27 4 2z} + (32 + )] = (2" + T2? + 22 4+ T)

4. By the Product Rule, g(z) = vz ¢* = z'/%" = g'(a) nx”’(ﬂ'}+-'(-}=_”’) = dx e (22 + 1)
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5. By the Quotient Rule, y =
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=5+ 14y~  + 9y or 5+ 14/y7 +9/y*
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fix) T+ ETITh So the slope of the 1 :
tangent hne at the pount (3,0.3) is f'(3) = 73 and its equation is l / J
y— 0.3 = —0.08(x — 5) ory = —0.08z + 0.54. s

43, We are grven that f(5) = 1, §'(5) = 6, 6(5) = 3, and g'(5) = 2

(a) (f2)'(5) = f(S)g'(5) + o(5)F'(5) = (1)2) + (~-3)(6) =2~ 18 =—16
®) (%) (5) = g(8)£°(5) — f(5)g (3} _ (—3)(6) —(1}2) _ _%

w5 =3y
gy Si5)g"(5) = o(5)F°(5) _ {1)(2) = (=3)(6)
] (?) () = o = e = 20



